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PartA 4%

Look at the pictures below. For each, you will
hear one or two questions and four possible
answers, A to D. Write down the letter of the
best answer (A, B, C, or D).

Question 1

Question 2

Question 4

\

PartB 4%
In part B, you will hear several questions or
statements. Choose the best response or reply.

5. (A) I also never rent movies.
(B) 1 also like to rent movies every day.
(C©) 1 also like to rent movies
sometimes.
(D) I also go to the theater only at
certain times.

6. (A) I can’t believe you said it’s terrible!
(B) Thanks, I'm glad you think it’s
wonderful.
(C) It’s not old, I just finished it
yesterday.
(D) Too small? I think its size is fine.

7. (A) 'm looking for a house, not a

factory.

(B) I usually go to the store down the
street.

(C) Well, the size doesn’t really matter
to me.

(D) Certain things such as where it is
and how much it costs.

8. (A) Yeah, it’s a beautiful painting.
(B) Yep, I’ve met his son already.
(C) Yes, his car looks very expensive.
(D) Yes, the machine he bought is
amazing.

Part C-1 4%
In part C-1, you will hear one or more
conversations between a man and a woman,
and then a question following each
conversation. Choose the best answer to that
question.
9. (A) They all have different types of
light.
(B) They all
emotions.
(C) They show how beautiful nature is.
(D) They’re taken with a film camera.

stand for Janice’s

10. (A) Nothing special happened during
the trip.
(B) He actually doesn’t like traveling.
(C) He is tired of going on trips to
Hawaii.
(D) His trip was one of the best ever.

Part C-11 4%

In part C-1I, you will hear one or more
conversations between a man and a woman,
and then two questions following each
conversation. Choose the best answers to those
questions.

Questions 11-12

11. (A) He didn’t act very well in the
movie.
(B) He acted very well in the movie.
(C) The clothes he wore were really
nice.
(D) He looked really handsome in the
movie.

12. (A) It will disappear suddenly.
(B) It will earn him a big prize.
(C) It will increase very quickly.
(D) It will only last for a short time.

Questions 13-14

13. (A) She hasn’t seen Phoebe for a while.
(B) She’s not sure when Phoebe
arrives.
(C) She doesn’t want to go to the
airport.
(D) She’s excited to see Phoebe.
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14. (A) After they eat dinner.
(B) When she gets to the airport.
(C) As soon as she gets home.
(D) After she gets a big hug.

PartD 4%
In part D, you will hear one or more passages.
Choose the best answers to those questions.

Passage 1 (g55cRaaE MFIeARE)

15. Why did France lose the war with

England?

(A) The French army was too weak.

(B) The French army was not big
enough.

(C) England had better weapons than
France.

(D) England had a larger number of
weapons.

16. How do we know that the Chinese had

exploding weapons a long time ago?

(A) The Japanese wrote about it in their
history books.

(B) There are old Japanese artworks
that show the weapons.

(C) The Chinese were not using bows
and arrows at that time.

(D) They developed the weapons at the
time England and France were at

war.
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Passage 2 (FF/CRIRE FFIEARR)

17. What is the talk mainly about?

(A) The effect that dying bees will
have on food safety.

(B) The effect that fake honey will
have on people’s health.

(C) The efforts needed to help honey
companies compete.

(D) The dangers of buying honey form
foreign countries.

18. What is “fake honey”?

(A) It is the thing causing bees to die
off.

(B) It is just sugar mixed with Chinese
products.

(C) It is real honey mixed with sugars
and other things.

(D) It is too difficult to know what is
really in it.

Passage 3 (FH/uhARE FFIARR)

19. What would have happened if the
company had used the name PAN?

(A) The company would have had to
buy the other company making
PAN.

(B) Another company would have been
upset and would have tried to
punish it.

(C) Two companies would have had to
work together to make PAN.

(D) Some other company would have
used the name Bluetooth.
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20. What is an advantage of the name

Bluetooth?

(A) It’s difficult to forget.

(B) It sounds silly when you say it.

(C) Another company uses the name.

(D) It’s a name that brings countries
together.
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